2/ 28E-2 L
2F BT 4L
@ @ FH~EER— K10 5T %
Oy 77— LIRERL I XHE~CHAEER- R L5
YOE 7T 9,000 | 7,950 BR~RCHER BHR~ECHRES
| B~AER— R t9.5TH# B~TER— Rt 5T
1, 200 L, 800 ==L 702 ==L 7oz
! 1 FE BBE L
! BE~ARLIITH BEA~ARt 11T H# "
EZ—) 7oz (ROXmLH H=900) EZ—-L7o02f (ROXRELO H=900) KE~ERB A DR BAHVE
MA~Y 7 hiK H=75 MAR~Y 7 MK H=T5h AEPYR 2
ﬁ“ﬁﬁﬁ@%—hkwﬁ WN%RﬁEﬁ—tkﬁqﬂ W~ RS,
SR~ 5 — IR 0.8 (3v7)-t2a7h) 2y ) hEa TR BROE~EERT A HLRLD BRp VB
/"Fﬂﬁ%fﬁ Bk —7REDI L) | -
= A~y 7 b A BT5
= %N%Rﬁﬁﬁ—tkwﬁﬁ |
1 :IJ i 37 uu 3 j\/7 — S.E:I_T_ T
T '?ﬁ ‘ v kL RX%& _
RG 1 ~H-248X 124X 5%8 Bill =
= - ;@ L . Sl STyt 3% (RRAHT)
= - 1 [UBHR—F1225y IHIKE~ |
= = | (B) BASE DS ] A%ES
= ” sy (7ARZEHEM - UARLI). @ @ @
A G~ /
_ = ST S | |
- .- - gﬁtﬁé)ﬂﬁﬁmﬁm - 5, 400 \ 531
o - | b SR o | 1, 800 ‘ 1, 800 ‘ 1,800 500 |37
+ = BT | K : (YW N=) | | |
K = K H |
-3 ngz@ﬂ i
1 ) AE~17-8AR L 0.5 | : 5,400 (36) 50
= o AiE TAR~NA TR 0.8 - _ - 2 \\\\\\\\\\j
= 1,125 1,125 20 SER K a G . ER~WE RRA7—8MRL 0.5 =88 [RRE 10415 ] (1)
| | EAB BEERE (TR AT = AR St ) (ZAE <7t 48) |
= _ A~ | | BARGAISME~ 178K £ 0. 586 (= H#t)
- = 1 I7-8km t 0.9 2 = 3 ' ‘ o
= =g < | = =
4 - T ‘ - — - ik _ 2
2G2~H-446% 199X 8X 12 % ;\/ | Kb BEE o 2 kL pEe | ¢ \ ; A 60X 30X/ 10X 1.6 @900 = . N
“ FRE NN 1| L : , o= =
g | V = V il - ‘u j_ 73
B %l)fw:[% | o B T DIA/ = A
IAY: | B % B O RHEA~S S L — = 2 s = PR
X304 10X 1.6 @900 4 NN KHE MHMBA~7 52— L t50 2k i KT mE®
H H H b /\[1 L/\ LT\ /%\ i ‘Wf\/\/\ﬂf\/ﬂ_ﬂ/\f\ﬂ/\ﬂ/ﬁ i
| = ; N F g~ i - I SR~ B R £ 0. 4
Z/ TWk~RCHR % i - ;%ﬁj{%wmtﬁgzﬁy% . = | - (B~ PiE Al )
N : &~ AEPiA? (/NN ‘ et ~
S M fi— .5 o | T SE3ENE SHERMRH Ad ~ : BOHES = o SRR W A rEERs iRt BRnVR
< fERRR A= K058 s = || (SL A=) 7IAT Tl 2~E®f— K t9.5T 4 CRRRE) N il e
- - Ay wp N\ - " 2 < 2 = = Mk & 1 - ’ ' | 1l R SETT -
i B~REA— Rt 5TH— 13 BER |||, gam%ﬁ%;n i - - = | %tﬂt;k;”tif”ﬁ = ‘ (SLA=) ™ =
. EZ—)L7oxfs ! - < = e e = ~ANE - = = o
= ~ | = = 5 < () seawc 2 i A E o EREE NI - sl = =
= ARASIE75yYaF FURM = - = =~ = il =
e _ ZEHWC i@ = EE~IV Xt IITH e 2TV L 2K GHE el
i = i E’%%%“BIEEE i ‘ [ i AT V711308 (BRI
= o - 54 s [UBK—K 1229y IF2EKE~
| R {l | : WER S _ 1] 5 o - | = () BABDBOS] BFESR
(EE:JN‘/Ef'F—tI\\/%_]l\_tﬂ?EIﬁ) 27V 2 B 3 | :1; LA = 1 (TARZHEHM - LALT)
4 | /,a};v_,[/ E (3v7U—b£37#H1) | o
EEY—ht] B | | ié*ﬂ)*")‘j_‘? YT EH
) > 170 7l il B i e + [ W [ I il hoTER _
s S Tl TITTTITTITITIITLITL “ S v GL = S | Vessssssssssssssesssssssssssnesssssnesssssssesssssss N o GL S
igﬁ%m*w%w»m%%l
YOETF 9,000 2,250 3, 600 1,800
9 . b5
MrEzEA X NO. 2 S=1:30 2.0
2 2 12 . 0
8 0
6 0
12 0 3 4 63
50 2 4 K

BERERE (1-20053) 5

ERRAER

—REEAEEE2823 738 %kEF &H B
TEFIRTERERAP B[S 8 — 4 MO0930—-33-2904




